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Class	12	accountancy	sample	paper	with	solution

Cbse	sample	paper	2021	class	12	accountancy	with	solutions.	Cbse	class	12	accountancy	sample	paper	2018	19	with	solutions.	Cbse	sample	paper	2020	class	12	accountancy	with	solutions.	Cbse	class	12	accountancy	sample	paper	with	solutions.	Cbse	class	12	accountancy	sample	paper	2019	with	solutions.	Sample	paper	class	12	accountancy	2020-
21	with	solution.	Together	with	sample	paper	class	12	accountancy	solutions.	Cbse	sample	paper	2021	class	12	accountancy	with	solutions	pdf.

Are	you	looking	for	the	latest	sample	documents	for	preparing	class	12	accounting	exams?	Then	download	the	CBSE	Class	12	Accounts	sample	documents	from	CA	Wizard.	Here	the	sample	documents	of	class	12	accounts	are	available	in	PDF	download.	We	provided	sample	documents,	questions	documents	for	exams	2021	with	marking	solutions	and
patterns	for	all	of	them.	You	can	also	get	sample	documents	for	all	other	topics	in	the	Business	field	(economics,	mathematics,	business	studies)	on	our	website.	CA	Wizard	is	a	resource	library	for	12th	Commerce	students	and	all	those	who	want	to	become	a	successful	charterer	accountant.	Sample	documents	of	the	updated	CBSE	class	accounts	will
help	students	prepare	for	the	next	examinations	of	the	Board	of	Directors	2021.	The	Central	Committee	of	Secondary	Education	Year	publishes	the	example	card	of	the	Account	12	class	on	the	official	website	CBSE.nic.in.	Business	students	Stream	must	download	the	sample	documents	CBSE	Class	12	accounting	2021	in	a	PDF	format	from	here.CSE
Class	12	Pattern	Card	Accountancy	2021	Before	resolving	CBSE	CLASS	class	12	2021,	students	must	check	the	most	recent	exam	paper	model.	This	will	help	students	prepare	well	for	the	exam.	CBSE	Class	12	Account	Type	the	sample	card	2021Every	Year,	the	CBSE	card	issues	sample	documents	for	class	12.	These	sample	documents	are	designed
for	the	revised	and	final	program	for	onboard	exams	2021.	Students	should	practice	CBSE	CLASS	sample	card	12	Accounts	2021	with	solutions.	It	is	designed	on	the	revised	CBSE	syllable	of	accounting,	from	which	30%	of	the	topics	have	been	deleted.	In	other	interrogative	documents,	extract	questions	outside	Syllabus.	CBSE	Class	12	accounts
sample	paper	2021cbse	Class	12	accounting	Year	previous	Question	2020USE	The	links	provided	below	to	download	the	PDFs	of	the	documents	of	the	accounting	application	of	the	previous	year	of	the	CBSE	12	class.	All	set	of	documents	of	the	2020	accounting	exams	are	reported	here	with	the	response	keys.	DOWNLOARE	Previous	question
PapersDownload	Solutions	for	the	previous	year	Question	PapersClass	12	Paper	1accouncy	Paper	1,	2,	3	SolutionsClass	12	Accounting	Card	2Class	12	Accountancy	Card	3CLASS	12	Accounting	Card	4,	6	SolutionsClass	12	Accounting	Card	5CLASS	12	Paper	Accountability	6Class	12	Paper	Accountability	7accouncy	Paper	7,	8,	9	Solutionsclass	12
Accounting	Card	8CLASS	12	Paper	Accountability	9CLASS	12	ACCOUNTACY	Paper	10Apartacy	10,	11,	12	SolutionsClass	12	Accounting	paper	11CLASS	12	12Class	12	accounting	card	Accounting	Card	13Aggezza	Paper	13,	14,	15	SolutionsClass	12	Accounting	Card	14CLASS	12	Accounting	Card	15	GENERAL	ISTRUCTIONS	FOR	CLASS	ACCOUNT
12	EXAMES	OF	SCHEDA	2021CBSE	SCHEDA	The	Board	of	Directors'	documents	have	general	instructions	written	on	the	paper.	These	instructions	are	very	important.	Here	are	the	general	instructions	of	similar	accounting	exams:	(i)	This	paper	question	includes	two	parts	â€	"A	and	B.	There	are	32	questions	in	the	interrogation	card.	All	questions
are	mandatory.	(II)	Part	A	is	mandatory	for	all	candidates.	(Ii)	part	B	has	two	options,	I.e.,	(1)	Financial	reporting	analysis	and	(2)	Computer	accounting.	You	just	have	to	try	one	of	the	specific	options.	(IV)	The	opted	option	header	must	be	written	on	the	answer	book	before	attempting	questions	of	that	particular	option.	Question	NOS.	From	1	to	13
and	from	23	to	29	are	very	short	answers	type	questions	carrying	1	brand	each.	Question	NOS.	14	and	30	are	short	answer	types	-	I	put	the	question	that	carries	3	signs	each.	Question	NOS.	From	15	to	1831	are	short	answer	types	-	II	Questions	carrying	4	signs	each.	(VIII)	Question	No	19,	20	and	32	are	the	long	answer	types	-	I	Questions	carrying	6
signs	each.	Question	NOS.	21	and	22	are	long	types	of	response	-	II	Questions	carrying	8	signs	each.	(X)	The	answers	should	be	brief	and	at	the	point.	The	answer	to	each	part	should	be	written	in	a	place.	(Xi)	There	is	no	general	choice.	However,	an	internal	choice	has2	questions	from	three	brands,	2	questions	of	four	brands,	1	question	of	six	brands
and	2	questions	from	eight	brands.	You	have	to	try	only	one	of	the	choices	in	these	questions.	(XII)	However,	with	each	part	and	demand	separate	instructions	are	provided,	if	necessary.	Why	do	you	practice	with	the	example	documents	of	class	12	CBSE	accounting?	The	matter	of	accounting	is	very	important	for	commerce	students.	Not	only	for	the
extensive	program	and	the	difficult	examination	of	examination,	but	also	for	the	creation	of	a	knowledge	base	for	higher	studies.	Let's	say	you	want	to	follow	the	CA	course	after	the	twelfth,	then	accounting	is	a	very	important	topic.	The	knowledge	acquired	in	the	eleventh	year	will	help	you	in	the	course	of	course	approx.	So	you	need	to	pay	attention
to	every	small	and	great	concept	of	the	accounting	program	to	get	a	good	understanding	and	the	high	scores.	Solve	the	sample	documents	will	help	you	test	your	level	of	preparation.	After	evaluating	your	answers	with	the	CBSE	response,	you	will	know	where	you	need	more	practice.	Do	not	leave	it	to	a	single	champion	sheet;	Practice	at	least	some
question	sheet.	Below	we	have	many	sample	documents	and	demand	documents	of	the	previous	year	for	you.	The	CBSE	samples	are	similarly	designed	to	the	main	exam	questionnaires.	Solving	them	will	clarify	the	paper	design	of	the	final	exam.	To	be	covered	in	time.	Even	with	30%	of	topics	reduced	by	the	CBSE,	you	still	need	time	to	prepare
yourself	well.	To	help	you	in	preparing	the	accounting	exam,	here	we	have	some	very	essential	suggestions	for	you:	before	starting	the	preparation	of	the	exam,	check	the	latest	program	and	note	the	weighting	of	votes	in	your	books	/	notes.	Now	make	a	timeline	for	all	chapters	and	topics.	Mention	clearly	how	much	and	what	you	will	learn	in	one	day.
Don't	try	to	cram	everything;	You	will	end	up	forgetting	it	during	your	Exams.ã,	regular	revisions	are	very	important,	especially	in	accounting.	You	can	take	short	notes	for	your	facility.	Even	if	you	can	only	be	reviewed	in	small	pieces,	do	it.	Always	review	what	you	have	learned.	There,	resolve	CBSE	Class	12	sample	documents	and	query	documents	of
the	previous	year.	During	resolution,	use	response	sheets	similar	to	copies	of	cbse	replies.	You	will	make	you	feel	at	ease	by	writing	on	these	sheets,	and	you	will	understand	how	to	use	the	space	appropriately.	If	you	have	a	low	level	of	concentration,	then	improve	it.	The	accounting	document	must	be	focused.	Imagine	being	distracted	when	you	are
in	the	middle	of	resolving	a	question	or	make	an	important	calculation.	You	will	lose	time	if	you	lose	concentration.	Make	these	simple	suggestions,	and	you	will	mark	high	scores	and	possibly	a	100/100	in	your	accounting	exam	.ã,	CBSE	Class	12	of	the	FAQSÃ,	Q1	accounting	sample,	Q1.	Which	will	be	the	difficulty	level	of	the	CBSE	Class	12
Accountanty	Paper?	ANS.	The	accounting	document	is	probably	in	moderate	difficulty.Q2.	What	is	the	best	champion	card	for	the	12	Accountancy	class?	ANS.	CBSE	Class	12	Accountanty	samples	are	the	best	for	te.q3.	What	is	the	marking	scheme	of	the	accounting	document?	ANS.	Refer	to	the	CBSE	sample	documents	for	the	complete	marking
scheme.	(Given	above)	Q4.	Can	I	use	a	calculator	in	the	12	CBSE	class	accounting	exam?	ANS.	No.	The	calculators	are	not	allowed	in	the	CBSE	class	exams.	Skip	to	content	Answer:	A.	Interest	for	the	partner's	loan	application.	For	which	of	the	following	situations,	at	the	time	of	admission	of	a	new	partner,	the	old	report	to	participate	in	the	useful
partners	is	used?	A.	When	the	Partner	brings	only	a	part	of	your	share	of	goodwill.b.	When	the	new	partner	is	unable	to	bring	its	share	of	goodwill.c.	When,	at	the	time	of	admission,	the	start-up	is	already	in	the	balance	sheet.	When	the	new	partner	brings	its	starter	part	in	cash.	Answer:	c.	When,	at	the	time	of	admission,	the	start-up	is	already	in	the
balance	sheet.	Request.	The	reserve	capital	is	not	part	of:	(a)	authorized	authorized	(b)	Undersigned	capital	(c)	Unsubscribed	capital	(d)	Capital	stock	issued	Response:	Question.	Â	Sports	Star	Charitable	club	has	an	income	of	16,000	and	a	“deficit”	charged	to	the	capital	fund	of	4,300	for	the	year	2019-20,	so	spending	for	the	year	2019-20	is:	(A)	'
11,700	(B)	'	4,300	(C)	'	20,	300	(D)	None	of	these	questions.	At	the	time	of	the	dissolution	of	the	association	company,	the	newspaper	entry	for	the	liquidation	of	the	loan	advanced	from	the	firm	to	a	member	would	be:	Question.	Â	A	company	has	accommodated	4,000	shares	of	’10	each	on	which	’3	application	money	was	paid.	Of	these	2,000	shares
were	completely	reissued	and	4000	were	transferred	to	the	capital	reserve.	Calculate	the	rate	of	re-emission	of	these	actions.a.	’10	Per	stockb.	'	9	For	action.	’11	For	action.	’8	Per	Action	Questione.	Â	Based	on	the	following	data,	how	much	will	the	final	payment	be	paid	to	a	partner	in	case	of	company	dissolution?	The	credit	balance	of	the
shareholder's	capital	account	was	50,000.	The	share	of	loss	on	realisation	amounted	to	’10.000.	The	responsibility	of	the	company	he	assumed	was	8,000.a.	’32,000b.	’48,000c.	’40,000d.	’52,000	Question.	Arun	and	Vijay	are	partners	in	a	company	that	shares	profits	and	losses	in	the	ratio	of	5:1.	If	the	value	of	the	machines	in	the	budget	is
underestimated	by	20%,	then	what	value	will	the	machines	be	entered	in	the	new	budget:	(a)	44,000	(b)	48,000	(c)	32,000	(d)	50,000	(d)	Question.	Rex,	Tex	and	Flex	are	partners	in	a	study	in	the	report	5:3:2.	As	a	partnership	agreement,	the	share	of	the	deceased	member	is	calculated	on	the	basis	of	the	profits	and	turnover	of	the	previous	year.	Tex
expired	on	31	December	2019.	Invoiced	until	the	date	of	death	was	’18.00.000.	Their	profits	and	turnover	for	the	year	2018-19	were	respectively	’4.00.000	and	’20.00.000.	An	amount	of
’_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________	Question.	The	retirement	or	death	of	a	partner	will	create	a	situation	for	continuous	partners,	which	is	known
as:A.	Dissolution	of	the	associationB.	Dissolution	of	the	joint	ventureC.	Dissolution	of	businessD.	None	of	these	Answers:	A.	Dissolution	of	the	Application	partnership.	A,	B	and	C	are	partners.	C	expired	on	18	December	2019	and	as	from	agreement	the	surviving	members	A	and	B	gave	instructions	to	the	accountant	to	draft	the	budget	at	18	December
2019	and	consequently	the	share	of	profits	of	C	(dead	member)	was	calculated	in	’12.00.000.	On	which	account	will	be	charged	the	transfer	of	the	profits	of	Câ¡¦:a.	Suspension	account	profits	and	losses.b.	Profits	and	losses	Imputation	Account.c.	Profit	and	loss	account.d.	None	of	this.	Answer:	b.	Profits	and	losses	Appropriation	Account.	Question.	E,
F	and	G	are	partners	who	share	profits	in	the	3:3:2	report.	According	to	the	partnership	agreement,	G	will	receive	a	minimum	amount	of	$80,000	a	year	as	its	share	of	profits	and	any	shortage	in	this	account	will	be	charged	to	E.	The	net	profit	for	the	year	ended	31	March	2020	was	3.12	thousand.	Calculate	the	amount	of	E?a.	’1,000b.	’4,000c.	8,000d.
’2,000	Question.	Choose	the	odd	one:a.	Rent	a	partner.b.	Commission.c.	Interest	on	the	loan	of	the	partner.d.	Interest	on	the	partner's	capital.	Response:	d.	Interests	on	the	Partner's	capital.	Question.	From	the	information	below,	calculate	the	amount	to	be	charged	to	the	income	and	exit	account	for	the	«sports	material	consumed»	for	the	year	2019-
20.	Answer:	*The	calculation	of	the	sports	material	consumed	by	alternative	methods	must	be	accepted.	Question.	Rohit,	Raman	and	Raina	are	partners	in	a	studio.	Their	balance	sheet	as	of	1	April	2019	amounted	to	’2,00,000,	’1,20.000	and	’1,60.000	respectively.	Each	member	took	$15,000	during	the	2019-20	financial	year.	According	to	the
provisions	of	the	act	(a)	Interest	on	the	principal	was	to	be	allowed	at	5%	per	annum.	(b)	Interest	on	withdrawals	was	to	be	charged	@	4%	per	annum.	(c)	Gains	and	losses	were	to	be	allocated	in	the	report	The	net	profit	of	"72,000	for	the	year	ended	March	31,	2020,	was	divided	into	the	same	way	among	the	partners	without	providing	the	terms	of
the	act.	It	is	necessary	to	switch	to	a	single	adjustment	entry	to	rectify	the	error	(clearly	shows	the	work).	now	&	b	are	partners	in	the	ratio	between	3:	2.	the	company	maintains	the	accounts	of	the	fluctuating	capital	and	the	balance	of	the	same	on	03.3-03-2020	amounted	to	"1.60,000	and	1.40,000	For	A	and	B	respectively.	Their	drawings	during	the
year	were	"30,000	each.	AS	per	partnership	of	interest	in	capital	@	10%	p.a.	On	the	opening	capitals	had	been	provided	to	them.	Calculate	the	capitors	to	open	the	data	partners	that	their	profits	were"	90,000.	Clearly	show	your	work.	Answer:	Question.	From	the	following	information	completed	the	newspaper	entries.	Answer	(nominal	value	of	the
quota	is	"10	each).	Pass	the	necessary	diary	items	in	the	following	cases	on	the	dissolution	of	a	partner	partnership	company	x,	y,	A	and	B:	(i)	the	costs	of	construction	of	5,000	were	Ago	X,	a	partner.	However,	it	was	paid	by	Y.	(ii)	investments	cost	25,000	(including	1000	shares),	they	had	been	completely	canceled	by	the	books.	These	actions	are
valued	at	20	each	and	were	divided	between	the	Partners.	(iii)	The	loan	of	y.50,000	placed	at	48,000.	(iv)	machinery	(value	of	the	book	6.00.000)	was	given	to	the	creditor	to	a	20%	discount.	Answer:	Question.	Ajay,	Binod	and	Chandra	are	entered	into	collaboration	on	1st	April	2019	with	a	capital	of	"3.00.000,`	2.00.000	and	1.00,000	respectively.	In
addition	to	capital	Chandra	advanced	a	loan	of	"1,00,000.	Since	they	had	no	agreement	to	guide	them,	they	addressed	the	following	problems	during	and	at	the	end	of	the	year.1.	Ajay	wanted	interest	in	the	capital	to	be	supplied	@	8	%	pa	binod	and	chandra	disagreement.2.	Chandra	wanted	the	interest	on	the	loan	to	be	paid	to	him	@	10%	Pa,	but	Ajay
and	Binod	wanted	to	pay	@	5%	PA.3.	Ajay	and	Binod	asked	for	Share	profits	in	the	relationship	of	their	capital	contribution,	Chandra	does	not	agree	with	this	proposal.4.	Binod,	being	a	work	partner,	requires	a	flat-rate	payment	of	"40,000	as	a	remuneration	for	which	other	partners	of	others	are	not	D	'	agreement.	You	need	to	suggest	and	help	them
solve	these	problems.	Answer:	Answer:	1.	In	the	absence	of	partnership	actions,	the	provisions	of	the	1932	partnership	law	will	apply	on	the	basis	of	which	no	interest	on	capital	is	payable.2.	In	the	absence	of	partnership	actions,	the	provisions	of	the	1932	partnership	law	will	apply	on	the	basis	of	which	the	interest	on	the	loan	by	the	partner	will	be
paid	@	6%	PA.3.	In	the	absence	of	partnership	actions,	the	provisions	of	the	1932	partnership	law	will	apply	on	the	basis	of	which	profits	will	be	shared	in	the	same	way.4.	In	the	absence	of	partnership	actions,	the	provisions	of	the	1932	partnership	law	will	be	applicable	according	to	which	no	salary	/	remuneration	is	due	to	any	partner.	Request.
From	the	following	receipts	and	rhythms	of	payment	of	the	Krish	Fitness	and	Wellness	Club	for	the	year	ended	March	31,	2020,	prepare	the	income	statement	and	expenditure.	Additional	information:	The	following	opening	balances	appeared	in	the	books	on	1st	April	2019.	(a)	Tournament	Fund	`15,000.	(B)	Medical	equipment	1,50,000.	(C)
Exceptional	subscription	was	"8,000	and	early	subscription"	5,000	(for	2019	-20).	During	the	year	2019-20	amortization	on	medical	equipment	was	"25,000.	There	were	600	members	each	paying	an	annual	subscription	of`	100.	Answer:	Question.	I)	Neeraj	Ltd.	has	assumed	business	of	companies	Ajay	on	1-04-2020	.	The	details	of	the	agreement
relating	to	the	activities	and	passages	to	be	taken	on	delivery	are:	it	was	decided	to	pay	for	purchase	consideration	as	"7,	00,000	through	the	control	and	balance	by	issue	of	9%	of	Debentures	of	"20	each	in	a	premium	by	25%.	Jownal.II)	on	1	April	2019	Z	Ltd.	issued,	10,000,	Debreensors	of	8%	of`	100	each	a	Premium	by	5%,	to	be	redeemed	to	a	10%
award,	after	5	years.	The	entire	amount	has	been	due	to	the	application.	The	issue	was	recorded	in	excess	to	the	extent	of	10,000	bonds	and	the	assignment	was	made	proportionally	proportionately	all	applicants.	Lâ	amount	of	the	premium	for	the	securities	is	not	used	for	other	purposes	during	dellâ	exercise.	Give	the	journal	entries	for	while	issues
of	bonds	and	amortization	lâ	off	loss	on	bond	issues.	Answer:	demand.	Sunaina	and	Tamanna	are	partners	in	a	society	'that	shares	profits	and	losses	with	a	3:	2	ratio.	Their	balance	sheet	at	March	31,	2020	was	as	follows:	Pranav	agreed	to	admit	in	society	for	1/5	of	the	share	of	earnings	on	April	1,	2020	to	the	following	conditions:	(a)	All	debtors	are	in
order.	(B)	Value	of	land	and	buildings	increased	to	â	1.80.000.	(C)	value	of	plant	and	machinery	decreased	by	20,000	â.	(D)	The	liabilities	(e)	Mr.	Anil,	to	which	40,000	were	due	(already	included	in	the	creditors	above),	has	issued	a	promissory	note	for	a	period	of	three	months	which	was	duly	accepted.	(F)	the	provision	of	capital	by	Pranav	Â	"and	Â	£
1,00,000«	10,000	as	a	prize	for	while	start-up	cash.	Giornalizzare.OrKrish,	Vrish	and	Peter	are	partners	sharing	profits	in	the	ratio	of	3:	2:	1.	Vrish	and	'withdrawn	from	the	study.	At	that	date,	the	budget	dellâ	Company	was	as	follows:	Additional	information:	Â	"Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	Â	¢	in	addition,
provisions	for	legal	damages	will	be	increased	by	Â	«1.200	and	furniture	brought	in	Â«	45,000.	Â	«Lâ	starter	dellâ	Company	is	priced	at	Â«	42,000.	Â	"26,000	from	the	capital	account	of	VrishÃ	¢	Â|	on	the	loan	account	and	the	balance	will	be	paid	by	the	bank;	if	necessary,	it	will	be	able	to	get	a	loan	from	the	bank.	Â	"Â	¢	Ã	New	share	ratio	of	useful
and	Krish	Peter	Ã	Ì	decided	to	be	5:	1.	Prepare	the	revaluation	account,	Partners	Capital	Accounts	and	Budget.	Answer:	demand.	Zocon	Ltd.	issued	a	statement	calling	to	request	5.00.000	actions	â	10	each	issued	at	a	10%	premium	payable	as:	â	domandaâ	3	of	5	of	assignment	(including	the	premium)	and	â	3	of	chiamata'.Sono	applications	received
for	6.60.000	azioni.Lâ	award	has	been	made	as	follows:	(a)	applicants	for	4.00.000	actions	were	completely	contracted.	(B	Applicants	of	2,00,000	shares	it	was	allocated	50%	pro	rata.	(C)	Applicants	of	60,000	shares	were	sent	letters	rammarico.Un	shareholder	to	whom	were	assigned	500	shares	of	the	category	(a)	paid	lâ	full	amount	of	the	assigned
actions	along	with	the	allotted	money.	another	shareholder	which	had	been	allocated	1,000	shares	referred	to	in	point	b)	he	has	not	paid	the	amount	due	at	the	time	of	assignment.	The	actions	of	him	were	immediately	confiscated.	These	shares	were	then	re-emitted	at	14	â	â	7	per	share	as	paid	up.	Giornalise.OrX	Ltd.	has	offered	50,000	shares,	each
with	a	100	â	â	20	premium,	payable	as	follows:	Application	â	â	50Allotment	40	(incl.	Premium)	and	the	balance	in	the	first	and	last	call	.The	current	account	of	the	company	has	received	35	â,	00,000	by	way	of	question	azioni.X	Ltd.	has	decided	to	assign	actions	to	any	pro	rata	applications.	The	balance	of	the	backward	calls	at	the	time	of	assignment
and	the	first	and	last	call	amounted	respectively	to	1	and	00,000	to	1,	50,000.	These	shares	were	forfeited	and	re-emitted	at	90	â	completely	liberated	action.	Giornalizzare	...	Answer:	Part	Â	«BÂ»	(Analysis	of	Financial	Statements)	Question	Additional	information:	Interest	on	bonds	is	paid	semi-annually	on	30	September	and	31	March	each	anno.I
debts	were	repaid	September	30,	2019.	the	amount	(related	to	the	above	information)	will	be	disclosed	in	the	cash	flow	statement	of	31	March	2020?	a.	Output	$	40,000.	B.	Ingresso42,600.C.	In	output	61.600.	D.	Outflow64,000	Answer:	Question	What	will	the	current	of	a	company	whose	net	operating	capital	ratio	is	Zero?	Request.	Which	of	the
following	is	not	part	of	the	financial	cost	(in	the	face	of	the	income	statement)?	(at	the	expense	(b)	interest	paid	on	debts	(c)	interest	paid	on	public	deposits	(d)	loss	on	the	issue	of	Question.	Which	of	these	is	not	a	cash	flow	investment?	A.	Purchase	of	securities	for	25,000	cash.B	Sale	of	land	for	28,000	cash.	C	Sale	of	2,500	shares	(held	as	an
investment)	for	15	each.	D	Purchase	of	equipment	for	500	cash.	Answer	A.	Purchase	of	market	securities	for	25,000	cash.	Question.	The	proposed	dividend	is	a	reliability.	Question.	The	_____________	may	indicate	that	the	company	is	experiencing	exhaustion	and	lost	sales.a	Average	Payment	Period	b.	Inventory	turnover	ratioc.	Medium	collection.
Answer	b.	Inventory	turnover	report	Question.	The	current	report	of	Vidur	Pvt.	Ltd.	is	3:2.	The	accountant	wants	to	keep	it	at	2:1.	The	following	options	are	available.	(i)	He	can	refund	Bills	Payable	(ii)	He	can	buy	goods	on	credit	(iii)	He	can	take	a	short-term	loan	Choose	the	correct	option	(a)	Only	(i)	is	correct	(b)	Only	(ii)	is	correct	(c)	Only	(i)	and
(iii)	are	correct	(d)	Only	(ii)	and	(iii)	are	correct	Answer	Question	Calculates	the	owner’s	ratio,	if	Total	assets	to	Debt	ratio	is	2:1.	The	debt	is	5.00.000.	The	share	capital	is	0.5	times	debt.	The	share	capital	is	25%	of	the	share	capital.	The	net	profit	before	tax	is	10,00,000	and	the	tax	rate	is	40%.	OrFrom	the	following	information,	calculate	the	“Interest
Coverage	Ratio.”	Profit	after	interest	and	tax	7,50,000	Income	tax	rate	25%	9%	Debentures8,00,000	Response	Owner	Ratio	=	Owner’s	Fund	/	Total	Asset	(1/2)	Total	Assets	=	Debts	Ã​	2=	5,00,000	Ã​	2	=	10,00,000	(1)	Owner’s	Funds	=	Share	Capital	+	Preferences	Capital	+	Surplus=	(5.00,000	to	0.5)	+	(5.00,000	to	0.5	to	25)	%	+	(10,00,000	â​​	40%	of
10.0	Ownership	Ratio	=	9.12,500	/	10.00,000=	0.912:	1	(1/2)	Application	Prepare	a	comparative	profit	and	loss	statement	from	the	following:	Answer	Application	Prepare	cash	flow	statement	based	on	the	information	provided	in	the	financial	statements	of	Relga	Ltd.	as	at	March	31,	2019	and	March	31,	2020:	Information	Additional:	During	the	year	a
piece	of	machinery	with	a	book	value	of	30,000;	the	provision	for	depreciation	on	it	10,000	was	sold	at	a	loss	of	50%	on	the	book	value.	The	debts	were	redeemed	on	31	March	2020.	Answer	Part	B	(Computerised	Accounting)	Question	What	does	“Primary	Key”	mean?	Answer	The	primary	key	is	a	key	in	the	relational	database	that	is	unique	for	each
record.	It	consists	of	at	least	possible	one	or	more	attributes	of	a	table	such	as	the	phone	number	with	the	area	code.	Computerized	Question	The	accounting	system	takes	(i)	__	as	inputs	which	are	processed	through	(iii)	_	to	generate	reports.	Computerized	Response	The	accounting	system	takes	(i)	accounting	transactions	as	inputs	that	are	processed
by	(ii)	accounting	software	to	generate	reports.	Question.	A	cell	reference	that	holds	either	the	constant	row	or	column	when	the	formula	or	function	is	copied	to	another	location	is	known	as:	(A)	Absolute	cell	reference	(B)	Range	(C)	Relative	cell	reference	(D)	Reply	mixed	cell	reference	(a)	Absolute	cell	reference.	Question.	Data	are	classified	for	the
creation	of	groups	of	accounts	in	the	headings	of:	(A)	Assets,	Liabilities	and	Capital	(B)	Assets,	Ownersâ​​	equity,	Revenue	and	Expenses	(C)	Assets,	Capital,	Liabilities,	Revenue	and	Expenses	(D)	Capital,	Revenue	and	Expenses	Answer	(C)	Assets,	Capital,	Liabilities,	Revenue	and	Expenses	Question.	A1:	E2	in	Excel	refers	to:	(A)	Column	on	the	Excel
sheet	(B)	row	on	the	Excel	sheet	(C)	Column	between	the	start	and	end	points	of	the	Excel	sheet	(D)	Alphabets	between	A	and	E	on	the	Excel	sheet.	Response	(c)	Column	between	the	start	and	end	points	of	the	Excel	sheet.	Question.	Name	the	data	element	in	the	accounting	transaction.	Answer	A	data	element	is	the	smallest	unit	of	data	named	in	the
Information	about	it.	In	accounting,	a	transaction	consists	of	four	data	elements,	such	as	the	account	name,	the	accounting	code,	the	transaction	date	and	the	amount.	Request.	Which	of	these	is	not	a	limitation	of	the	computerized	accounting	system?	(A)	Data	data	be	lost	or	corrupted	due	to	power	outages.	(B)	Data	are	prone	to	hacking.	(C)	Data	are
not	available	to	all.	(D)	is	not	possible	to	generate	reports	unplanned	and	unspecified.	Answer	c)	The	data	are	not	available	to	all.	Request.	Explain	Ã	Â	Ã	â	¬	'attributes'	values	​​Ã	Â	"Attributes	Complexa	Å	Â»	..Orexplain	Any	three	types	of	vouchers	redeemed	for	entry	into	Tally	Software	with	the	help	of	examples	to	Reply	NULL	values:	the	absence	of
a	data	element	is	represented	by	a	special	value	called	NULL	value.	There	are	three	situations	that	may	require	the	use	of	the	null	value.	-	When	a	particular	attribute	does	not	apply	to	an	entity.	the	value	of	an	unknown	attribute	is	not	although	esiste.Ã	Â	"There	are	no	attributi.complex:	these	are	composite	and	multivalive	attributes	that	can	be
nested	(or	grouped)	to	form	complex	ones.	the	brackets	{}	is	used	to	show	the	grouping	components	of	composite	attributes.	the	braces	{}	are	used	to	show	multivalive	attributes.	Oranswer:	types	of	good	(any	three)	(i)	Contra	good:	used	for	fund	transfers	between	cash	and	only	bank	a	/	C.	This	voucher	is	used	if	the	count	nts	are	collected	by	the
Bank	for	the	office	or	deposited	in	the	bank	office.	(II)	Voucher	received:	all	the	influx	of	money	is	recorded	through	voucher	of	receipt.	These	receipts	can	be	as	to	any	income	received	from	debtors,	loans	/	advance	taken	or	repayment	of	the	loan	/	advance,	etc.	(III)	Voucher	payment:	any	outflow	of	money	is	recorded	through	the	payment	notice	Such
payments	may	be	towards	any	purchase,	expenses	Because	of	the	lenders,	the	loan	/	advance	etc.	(IV)	Voucher	of	the	newspaper	is	a	good	adjustment,	normally	used	for	non-cash	transactions	such	as	the	regulation	of	lesgioni.	Request.	Explain	codes	Ã	Ã	~	~	~	~	-mnemonica	Â	».	As	it	is	designed	by	a	graphic?	He	explains	three	more	of	its
advantages.	Responding	sequential	code	The	codes	are	codes	where	the	code	numbers	and	/	or	letters	are	assigned	in	consecutive	order.	These	codes	are	mainly	applied	to	source	documents	such	as	checks,	invoices,	etc.	This	facilitates	research	on	the	documents.	This	process	allows	the	identification	of	missing	codes	(numbers)	related	to	a	particular
document	or	to	track	a	relevant	document	on	the	basis	of	codes.	The	codes	of	Mnemonics	codes	consist	of	alphabets	or	abbreviations	as	symbols	to	encode	a	piece	of	information.	SJ	for	sale	magazine,	HQ	for	the	head	office	are	examples	of	mnemonici.Answer	codes:	a	graph	is	a	pictorial	presentation	of	the	data	that	has	at	least	two	dimensional
relationships.	Advantages:	1.	The	graphs	help	esplorare2.	The	graphs	help	presentare3.	The	graphs	help	to	convince	the	question	.Identificare	the	error	that	appears	when	there	are	numerical	values	​​invalid	in	a	formula	or	function.	How	can	you	be	resolved	this	error?	Explain.	Answer	The	error	is	#NUM!	Error.	The	steps	to	correct	it	are:	1.
Optionally,	click	the	cell	that	displays	the	error,	click	the	button	that	appears,	and	then	click	Show	the	steps	of	calcolo.2.	Review	the	following	causes	and	solutions:	Ã	¢	¬	¢	Â	Using	an	unacceptable	argument	in	the	function	that	requires	a	numeric	argument.	Make	sure	that	the	arguments	used	in	the	function	are	numbers.	-	Using	a	worksheet
function	that	iterates,	such	as	IRR	or	rate,	and	the	function	can	not	find	the	risultato.Ã	â	¬	Â	¢	Use	a	different	starting	value	for	the	function	of	the	lavoro.3	sheet.	Then	click	the	Microsoft>	Excel	Options	button	and	then	click	the	Formulas	category.	Error:	the	content	is	protected	!!	!!
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